PO04A Legrest Supports

See Legrest Release Handle
and Ratchet page for assemblies.

See Calf Pads and Attaching
Hardware page.



PO04A Legrest Supports

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 1027095 Plug Button, Black (7/8") 1 1
2 11919X000-NLA | NLA - Screw, Slotted Truss Head (3/8-16 x 1-1/2") 1 1
3 1058636-NLA | NLA - Washer, Nylon (25/64 x 7/8 x 1/32") 1 2
4 40363X000 Hex Nut (3/8"-16) 1 1
5 7930330-NLA | NLA - Locknut (5/16-24) 25 1
6 1026030 Bolt, Lug (5/16-24 x 1-3/8") 1 1
7 A 8881048851 | Tube, Elevating Adjustable Support, Color - Right 1 1
7 A 8881048852 | Tube, Elevating Adjustable Support, Color - Left 1 1
8 1027097 Plug Button, Black (3/4") 1 1
9 A |8881058664-NL | NLA - Tube, Legrest Support, Color - Right 1 1
A
9 A |8881058665-NL | NLA - Tube, Legrest Support, Color - Left 1 1
A
10 1022874 Bumper 1 1
11 1030979 Screw, Phillips Pan Head Tap (#10-32 x 3/4") 1 1
A,B |8881058646-NL | NLA - Legrest Support Assembly, Adult, Color - 1 1
A Right
A,B |8881058647-NL | NLA - Legrest Support Assembly, Adult, Color - Left 1 1
A

NOTE: A - Specify frame color when ordering. See page titled, "Frame Finishes, Touch-Up Paint and Upholstery Options."
B - Not Shown.




